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&5 X 4 r:né; 'Flmiﬁ(z)@}iﬁ%’é 73(&3(%‘5 X 4 Tinﬁéézg)?kiF .E,na;f jj(lf’)\fﬁé X 4 ,(Er,na‘)f J:Jﬁﬁ?b(z)o)ttlsl jj(lf’)\fﬁé X 4 J:m;ﬁ(z)@ttra, rzjn? ﬁ:ﬁlfnié
7 100kN/m%#8%% | 1.00 ]| 000 ~ 408| 166.96 |3mE{BZ%| 000 ~ 260 | 4.34 21.92 | 100kN/m%#B25 | 1.00 | 11.00 ~ 63.08| 166.96 |3mE#BZB| 2500 ~ 6308 4.34 21.92
s 1.00 | 4208 ~ 1187 100.00 | ENLS | 260 ~ 1187] 3.00 15.16 Zh st 1.00 | 6.00 ~ 1100 100.00| THLS | 65.00 ~ 2500 3.00 1516
2 100kN/m%#8%2% | 1.00 | 000 ~ 383| 16239 |3mEBZ%| 000 ~ 157|382 19.31 | 100kN/miZ#B25 | 1.00 | 1070 ~ 4229 162.39 |3mZE{BZB| 2500 ~ 4229| 3.82 19.31
s 1.00 | 383 ~ 1162 100.00 | NS | 1.67 ~ 1162] 3.00 15.16 Zh st 1.00 | 6.00 ~ 1070 100.00 | ThLS | 65.00 ~ 2500 3.00 1516
3 100kN/m##x5 | 1.00 | 0.00 ~ 391 163.74 |3mZE#BZ 5| 000 ~ 152|378 19.12 | 100kN/mi%#B25 | .00 | 1063 ~ 4892 16374 |3m&EBZB| 2500 ~ 4892| 3.78 19.12
s 1.00 | 391 ~ 1169 100.00 | ENLS | 1.62 ~ 11.69] 3.00 15.16 st 1.00 | 6.00 ~ 1063 100.00 | ThLS | 65,00 ~ 2500 3.00 1516
4 100kN/m%E#8z5| 1.00 | 000 ~ 276 143563 |3m&EBZB| — ~ — — — | 100kN/mM%E#Z25 | 1.00 | 1053 ~ 2352 143.53 |3m&EEZ5 - ~ — — —
s 1.00 | 276 ~ 1054 100.00 | ENLS | 000 ~ 1054) 2.72 13.75 st 1.00 | 6.00 ~ 1053 100.00 | ThUS | 6,00 ~ 2352|272 13.756
5 100kN/m##8%2% | 1.00 )| 000 ~ 330 152.89 |3m%E{BZ%| 000 ~ 0.10| 3.05 15,43 | 100kN/m%i#8z25 | .00 | 1065 ~ 3943 152.89 |3m&E#BZB| 3000 ~ 39.43| 3.05 15.43
s 1.00 | 330 ~ 1108 100.00 | EnLS | 0.10 ~ 1108] 3.00 15.16 st 1.00 | 6.00 ~ 1065 100.00 | THLS | 65,00 ~ 3000 3.00 1516
P 100kN/m##8%2% | 1.00 | 000 ~ 322 151.57 |3m&E{BZ%| 000 ~ 106| 3.48 17.567 | 100kN/m#%i#8z25% | 1.00 | 1081 ~ 4914 151.67 |3m&E#BZB| 8000 ~ 49.14| 3.48 17.67
s 1.00 | 822 ~ 1101 100.00 | #nLSYy | 1.06 ~ 1101 3.00 156.16 FhnLst 1.00 | 5.00 ~ 1081 100.00 | =nLst | 6.00 ~ 3000 3.00 15.16
- 100kN/m%8%% | 1.00 | 000 ~ 320| 151.21 |3mEEZB| 000 ~ 1.05| 347 17.54 | 100kN/m%#825 | 1.00 | 1084 ~ 4964 | 151.21 |3mEBZB| 20.00 ~ 4964 | 347 17.54
ThLst 1.00 | 320 ~ 1099 100.00 | TS | 1.05 ~ 1099| 3.00 15.16 FhLst 1.00 | 500 ~ 1084 100.00 | #nst | .00 ~ 40.00| 3.00 15.16
3 100kN/m%8%x% | 1.00 | 000 ~ 288| 145.65 |3m&E{BZ%| 0.00 ~ 092| 3.40 1719 | 100kN/m%#8z5 | 1.00 | 11.15 ~ 4397 | 145.65 |3mEBZB| 4000 ~ 43.97| 3.40 17.19
ThLst 1.00 | 288 ~ 1067 100.00 | TN | 092 ~ 1067] 3.00 15.16 Fhust 1.00 | 6.00 ~ 1115 100.00 | FnLS | 6.00 ~ 40.00)| 3.00 15.16
9 100kN/m%8%2% | 1.00 | 000 ~ 229| 135.72 |3m&x{EZ%| 000 ~ 069| 3.28 16.59 | 100kN/m%i#825 | 1.00 | 1205 ~ 41.17| 135,72 |3m&EBZB| 4000 ~ 41.17| 3.28 16.59
ThLst 1.00 | 229 ~ 1008 100.00 | TN | 069 ~ 1008] 3.00 15.16 Fhst 1.00 | 6.00 ~ 1205 100.00 | FnLS | 6.00 ~ 40.00)| 3.00 15.16
10 100kN/m%#8%2% | 1.00 | 000 ~ 209| 13244 |3m&x{EZ%| 000 ~ 061 | 3256 16,42 | 100kN/m%i#825 | 1.00 | 1246 ~ 4066 | 13244 |3mEBZB| 4000 ~ 40.66| 3.25 16.42
Thilst 1.00 209 ~ 988 100.00| Fnhbs | 061 ~ 988 3.00 15.16 TnList 100 500 ~ 1246 100.00| FnLS | 5,00 ~ 40.00( 3.00 156.16
100kN/ Mm% A5 ~ 3mEBZ D ~ 100kN/mM%E#Z 5 ~ 3mEHEAD ~
Ths ~ st ~ st ~ Ths ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#BZ 5 ~ 3mEHEAD ~
zhs ~ st ~ st ~ Ths ~
100kN/ Mm% Z 5 ~ 3mEBZ D ~ 100kN/mM%E#Z 5 ~ 3mEHEAD ~
Ths ~ st ~ st ~ Ths ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#Z 5 ~ 3mEHEAD ~
Ths ~ st ~ ZhLst ~ Ths ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#BZ 5 ~ 3mEHEAD ~
zhst ~ ZhnLst ~ st ~ zhst ~




